CHAPTER 11

Depreciation and Depletion

EXERCISE 11-1 (15-20 minutes)

(a) Straight-line method depreciation for each of Years 1 through 3 =

	$469,000 – $40,000
	= $35,750

	12
	


	(b)
	Sum-of-the-Years’-Digits =
	12 X 13
	= 78

	
	
	2
	


	12/78 X ($469,000 – $40,000) = $66,000
	depreciation Year 1

	11/78 X ($469,000 – $40,000) = $60,500
	depreciation Year 2

	10/78 X ($469,000 – $40,000) = $55,000
	depreciation Year 3


	(c)
	Double-Declining Balance method

depreciation rate.
	100%
	X 2 = 16.67%

	
	
	12
	

	
	
	
	


	$469,000 X 16.67% =
	$78,182  depreciation Year 1

	($469,000 – $78,182) X 16.67% =
	$65,149  depreciation Year 2

	($469,000 – $78,182 – $65,149) X 16.67% =
	$54,289  depreciation Year 3


EXERCISE 11-2 (20-25 minutes)

(a) If there is any salvage value and the amount is unknown (as is the case here), the cost would have to be determined by looking at the data for the double-declining balance method.

	100%
	= 20%; 20% X 2 = 40%

	5
	




Cost X 40% = $20,000



$20,000 ( .40 = $50,000 Cost of asset

EXERCISE 11-2 (Continued)

(b)
$50,000 cost [from (a)] – $45,000 total depreciation = $5,000 salvage value.

(c)
The highest charge to income for Year 1 will be yielded by the double-declining balance method.

(a) The highest charge to income for Year 4 will be yielded by the straight-line method.

(b) The method that produces the highest book value at the end of Year 3 would be the method that yields the lowest accumulated depreciation at the end of Year 3 which is the straight-line method.

Computations:

St.-line = $50,000 – ($9,000 + $9,000 + $9,000) = $23,000 book value, end of Year 3.

S.Y.D. = $50,000 – ($15,000 + $12,000 + $9,000) = $14,000 book value, end of Year 3.

D.D.B. = $50,000 – ($20,000 + $12,000 + $7,200) = $10,800 book value, end of Year 3.

(c) The method that will yield the highest gain (or lowest loss) if the asset is sold at the end of Year 3 is the method which will yield the lowest book value at the end of Year 3 which is the double-declining balance method in this case.

EXERCISE 11-3 (15-20 minutes)

	(a)
	20 (20 + 1)
	= 210

	
	2
	




3/4 X 20/210 X ($711,000 – $60,000) = $46,500 for 2001

	
	1/4 X 20/210 X ($711,000 – $60,000)
	=
	$15,500
	

	+
	3/4 X 19/210 X ($711,000 – $60,000)
	=
	  44,175
	

	
	
	
	$59,675
	for 2002


EXERCISE 11-3 (Continued)

	(b)
	100%
	= 5%; 5% X 2 = 10%

	
	20
	




3/4 X 10% X $711,000 = $53,325 for 2001



10% X ($711,000 – $53,325) = $65,768 for 2002



OR

	
	1/4 X 10% X $711,000
	=
	$17,775
	

	+
	3/4 X 10% X ($711,000 – $71,100)
	=
	  47,993
	

	
	
	
	$65,768
	for 2002


EXERCISE 11-12 (20-25 minutes)

(a) 1975-1984—($2,000,000 – $60,000) ( 40 = $48,500/yr.

(b)
1985-2002—Building ($2,000,000 – $60,000) ( 40 =
$48,500/yr.




   Addition ($500,000 – $20,000) ( 30 =

  16,000/yr.











$64,500/yr.

(c)
No entry required.

(d)
Revised annual depreciation

	Building
	

	
Book value: ($2,000,000 – $1,358,000*)
	$642,000

	
Salvage value
	    60,000

	
	582,000

	
Remaining useful life
	32 years

	
Annual depreciation
	$  18,188

	
	

	Addition
	

	
Book value: ($500,000 – $288,000**)
	$212,000

	
Salvage value
	    20,000

	
	192,000

	
Remaining useful life
	32 years

	
Annual depreciation
	$    6,000




 *$48,500 X 28 years = $1,358,000



**$16,000 X 18 years = $288,000


Annual depreciation expense—building ($18,188 + $6,000)     $24,188
EXERCISE 11-13 (15-20 minutes)

(a) $2,200,000 ( 40 = $55,000

	(b)
	Loss on Disposal of Plant Assets

	80,000
	

	
	Accumulated Depreciation—Building
	
	

	
	   ($160,000 X 20/40)

	80,000
	

	
	
Building

	
	160,000

	
	
	
	

	
	Building

	300,000
	

	
	
Cash

	
	300,000

	
	
	
	



Note: The most appropriate entry would be to remove the old roof and record a loss on disposal, because the cost of old roof is given. Another alternative would be to debit Accumulated Depreciation on the theory that the replacement extends the useful life of the building. The entry in this case would be as follows:

	
	Accumulated Depreciation—Building

	300,000
	

	
	
Cash

	
	300,000



As indicated, this approach does not seem as appropriate as the first approach.

(c)
No entry necessary.

(d)
(Assume the cost of old roof is removed)

	
	Building ($2,200,000 – $160,000 + $300,000)
	$2,340,000

	
	Accumulated Depreciation ($55,000 X 20 – $80,000)
	  1,020,000

	
	
	1,320,000

	
	Remaining useful life
	   25 years

	
	Depreciation—2002 ($1,320,000 ( 25)
	$    52,800

	
	OR

	
	(Assume the cost of new roof is debited to 
	

	
	   accumulated depreciation)
	

	
	Book value of building prior to the replacement of
	

	
	   roof $2,200,000 – ($55,000 X 20) =
	$1,100,000

	
	Cost of new roof
	     300,000

	
	
	$1,400,000

	
	Remaining useful life
	   25 years

	
	Depreciation—2002 ($1,400,000 ( 25)
	$     56,000


EXERCISE 11-14 (20-25 minutes)

	(a)
	Repair Expense

	500
	

	
	
Equipment

	
	500

	
	
	
	

	(b)
	The proper ending balance in the asset account is:
	

	
	
January 1 balance
	
	$134,750

	
	
Add new equipment:
	
	

	
	
      Purchases
	$32,000
	

	
	
      Freight
	700
	

	
	
      Installation
	    2,700
	

	
	
	
	35,400

	
	
Less cost of equipment sold
	
	   (23,000)

	
	
	
	$147,150


1.  Straight-line: $147,150 ( 10 = $14,715

2.  Sum-of-the-years’-digits: 10 + 9 + 8 + 7 + 6 + 5 + 4 + 3 + 2 + 1 =55

	OR
	n(n + 1)
	=
	10(11)
	= 55

	
	2
	
	2
	



For equipment purchased in 2000: $111,750 ($134,750 – $23,000) of the cost of equipment purchased in 2000, is still on hand.

	
8/55 X $111,750 =
	$16,255

	For equipment purchased in 2002: 10/55 X $35,400 =
	    6,436

	
Total
	$22,691


EXERCISE 11-15 (25-35 minutes)

	(a)
	
	
1996
	
	1997-2002
Incl.
	
	
2003
	
	
Total

	1.
	$192,000 – $16,800 = $175,200
	
	
	
	
	
	
	

	
	$175,200 ( 12 = $14,600
	
	
	
	
	
	
	

	
	per yr. ($40 per day)
	
	
	
	
	
	
	

	
	   133/365 of $14,600 =
	$  5,320
	
	
	
	
	
	

	
	   1997-2002 Incl. (6 X $14,600)
	
	
	$87,600
	
	
	
	

	
	   68/365 of $14,600 =
	
	
	
	
	$  2,720
	
	$  95,640

	2.
	
	0
	
	  87,600
	
	  14,600
	
	  102,200

	3.
	
	  14,600
	  
	  87,600
	
	           0
	 
	  102,200

	4.
	
	    7,300
	  
	  87,600
	
	    7,300
	 
	  102,200

	5.
	4/12 of $14,600
	    4,867
	
	
	
	
	
	

	
	1997-2002 Inc.
	
	
	  87,600
	
	
	
	

	
	3/12 of $14,600
	
	
	
	
	    3,650
	 
	    96,117

	6.
	
	           0
	
	87,600
	
	           0
	
	    87,600


(b)
The most accurate distribution of cost is given by methods 1 and 5 if it is assumed that straight-line is satisfactory. Reasonable accuracy is normally given by 2, 3, or 4. The simplest of the applications are 6, 2, 3, 4, 5, and 1, in about that order. Methods 2, 3, and 4 combine reasonable accuracy with simplicity of application.

EXERCISE 11-16 (10-15 minutes)

	(a)
	December 31, 2002

	
	Loss on Impairment

	3,200,000
	

	
	
Accumulated Depreciation—Equipment

	
	3,200,000


	Cost
	$9,000,000

	Accumulated depreciation
	  1,000,000

	Carrying amount
	8,000,000

	Fair value
	  4,800,000

	Loss in impairment
	$3,200,000


	(b)
	December 31, 2003

	
	Depreciation Expense

	1,200,000
	

	
	
Accumulated Depreciation—Equipment

	
	1,200,000


	New carrying amount
	$4,800,000

	Useful life
	      4 years

	Depreciation per year
	$1,200,000


(c)
No entry necessary. Restoration of any impairment loss is not permitted.

EXERCISE 11-17 (15-20 minutes)

	(a)
	Loss on Impairment

	3,220,000
	

	
	
Accumulated Depreciation—Equipment

	
	3,220,000


	Cost
	$9,000,000

	Accumulated depreciation
	  1,000,000

	Carrying amount
	8,000,000

	Less: Fair value
	4,800,000

	Plus: Cost of disposal
	       20,000

	Loss in impairment
	$3,220,000


(b) No entry necessary. Depreciation not taken on assets intended to be sold.

	(c)
	Accumulated Depreciation—Equipment

	500,000
	

	
	
Recovery of Loss in Impairment

	
	500,000

	
	
	
	

	
	Fair value
	$5,300,000
	

	
	Less: Cost of disposal
	       20,000
	5,280,000

	
	Carrying amount
	
	  4,780,000

	
	Recovery of impairment loss
	
	$   500,000


EXERCISE 11-21 (15-20 minutes)

(a) $1,300 – $300 = $1,000 per acre for timber

	$1,000 X 7,000 acres
	X 850,000 bd. ft. =

	8,000 bd. ft. X 7,000 acres
	


	$7,000,000
	X 850,000 bd. ft. = $106,250.

	56,000,000 bd. ft. 
	


	(b)
	$78,400
	X 850,000 bd. ft. = $1,190.

	
	56,000,000 bd. ft.
	


(c)
Capitalize the cost of $70,000 ($20 X 3,500 trees) and adjust depletion the next time timber is harvested.







55
11-9

